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Why is regular home learning important?
· It can improve a student’s thinking and memory skills.  This is vital for the new content heavy GCSEs. 

· It helps students to develop positive study skills and habits that will serve them well throughout life.

· Home learning encourages students to use time wisely and efficiently. 

· It teaches students to work independently.

· Home learning teaches students to take responsibility for their own work.

· It allows students to review and practice what has been covered in class and consolidate their knowledge and skills. 

· Equally important, it helps students to get ready for the next day’s class.

· It helps students learn to use resources, such as libraries, reference materials, and computer Web sites to find information.

· It encourages students to explore subjects more fully than classroom time permits.

· It allows students to extend their learning by applying skills to new situations. 

· Home learning helps parents learn more about what their children learning in school.

· It allows parents to communicate with teachers about learning in order to support their children efficiently. 
Cycle 2:  Week 1                                                                         Homework 1

Consolidation:  Elizabethan England in 1558.
The structure of society was hierarchical and this was also seen in the way the country was governed.  Each group in society knew its place and obeyed those were above them in the hierarchy.

Elizabethan government.

· The queen was the head of society and government.  Monarchs were believed to have ‘Divine Rights’ – in other words monarchs believed they had power from God to rule.
· The Royal Court was the centre of all political power.  The court was mostly made up of the nobility. They were the monarch’s key servants, advisors and friends.  The role of the court was to entertain and advise the monarch.

· The Privy Council was made up of leading courtiers, advisors, nobles and senior government officials.  There were 19 members on the Privy Council and were all chosen by Elizabeth and they met several times a week.  The role of the Privy Council was to advise the monarch on government policy, make sure the monarch’s final decisions were carried out, to oversee law and order and to monitor JPs.

· Parliament was made up of the House of Lords and the House of Commons.  Parliament could only be called and dismissed by the monarch.  Elizabeth only called parliament 10 times in her reign -  usually when she needed parliament to grant money from taxes to pay for the running of and defence of the country.

· Each county had a Lord-Lieutenant chosen by the monarch.  They were members of the nobility and on the Privy Council.  They were in charge of the local militia and overseeing the country’s defences.

· JPs (Justices of the Peace) were large landowners who were responsible for law and order in their local areas.  They were unpaid and reported to the Privy Council.  They had to make sure that government policies were carried out in their areas.  They were also responsible for county court cases (held every three months).
Task 1
Write a meaning for the term ‘Divine Rights’.

Task 2

Complete the table below giving the key features of each part of Elizabethan Government.

	
	Key features

	Royal Court
	

	Privy Council
	

	Parliament
	

	Lords Lieutenant
	

	JPs
	


Checked by teacher: __________________      Date: _______________
Cycle 2:  Week 2                                                                        Homework 2

Consolidation:  What problems did Elizabeth face on her accession to the throne?
Problem 1:  Legitimacy

To inherit the throne, it was essential that the monarch was legitimate, which meant being born whilst the reigning king and queen were married.  Elizabeth’s legitimacy was in doubt because Henry VIII had divorced his first wife to marry his second (Anne Boleyn).  England was a catholic country and the Pope refused to grant Henry a divorce (Catholics do not believe in divorce) and so this led to Henry creating the Church of England with himself as head of the church.  Henry then granted himself a divorce so that he could marry Anne Boleyn.  Henry and Anne Boleyn married and Elizabeth was born.  However many Catholics refused to acknowledge Henry’s divorce because the Pope had not agreed to it and so they did not accept that Elizabeth was legitimate.

Problem 2:  Gender and Marriage

A queen who ruled in her own right was seen as unusual, at this time.  The Christian religion taught that women should be under the authority of men.  Furthermore, monarchs at this time were expected to lead their armies into battle.  Women were not seen as physically, mentally or emotionally capable to ruling.

Many people thought that Elizabeth should marry.  However, she had no intention of doing so.  Elizabeth turned down some of the most eligible princes of Europe because she was worried that by marrying a foreign prince they would put England’s needs second to their own country.  As Elizabeth refused to marry, there was an additional problem as to who would be heir to the throne after Elizabeth died.
Problem 3:  Financial problems

Elizabeth’s government did not have much money when she became queen.  England had fought costly wars and lots of the Crown’s land had been sold off to raise money to fight them.  To be strong, Elizabeth needed to be wealthy.  Defending England and her throne was very expensive.  Taxes were unpopular and parliament had to agree them.  In return, parliament could make demands on Elizabeth.  Elizabeth, therefore, did not want to have to rely too much on parliament for her income.

Problem 4:  Religion

Elizabeth was a protestant and when she was crowned queen England was a catholic county.  Elizabeth wanted to make England protestant again.  However, she realised that this would cause religious conflict as Catholics would not be happy.

Problem 5:  Threat of invasion.

When Elizabeth was crowned queen she faced threats from France and Scotland.  Scotland was ruled by Elizabeth’s cousin, Mary Queen of Scots, who was catholic and who also believed that she was the rightful heir to the English throne.  England’s border with Scotland was remote and hard to defend which meant it saw constant fighting and raids.

Elizabeth also faced threat of invasion from France and Spain who were powerful catholic countries.  Divisions between catholics and protestants were causing religious conflict in Europe and Elizabeth worried that Spain and France might unite against England and it protestant queen.

Task 1.
a)  Write a meaning for the key word ‘legitimacy’.

b)  Why did some people claim that Elizabeth did not have a legitimate claim to the throne?
Task 2

a)  Use the information above to complete the following table, explaining the problems Elizabeth faced when she became queen.

	Gender
	

	Marriage
	

	Religion
	

	Finance
	

	Foreign threats
	

	Legitimacy
	


Task 2b:
Which problem was Elizabeth’s greatest threat and why?

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Checked by teacher:  ___________________    Date: ___________
Cycle 2:  Week 3                                                                    Homework 3
Consolidation:  The ‘settlement’ of religion
Religion had been the source of many problems since Henry VIII divorced Catherine of Aragon in 1533.  Elizabeth was protestant but she did not want to antagonise the Catholics so she wanted to establish a form of Protestantism that Catholics would accept.

Elizabeth’s religious settlement was designed to be accepted by as many of her subjects (people) as possible.  The religious settlement was established in 1559 and came in three parts:

The Act of Supremacy:  This Act made Elizabeth the Supreme Governor of the Church of England.  All clergy and royal officials had to swear an oath of allegiance to her as head of the Church.  Many Catholics accepted this because it seemed to accept the Pope as overall Head of the Church.

The Act of Uniformity:  This Act specified the appearance of churches and the form of church service which people had to follow throughout England.  Elizabeth combined a mixture of catholic and protestant features to try to appease both religions.  Features which pleased Protestants were:  church services were held in English (not Latin), anew payer book was introduced in English and the Bible was also translated into English.  Features which pleased Catholics were:  candles were still used in services, churches were still allow to display crucifixes and statues, priests were also still allowed to wear their special vestments.  
This Act ordered that everyone was to attend church on a Sunday and other holy days.  If they did not attend they would be fined.
The Royal Injunctions:  This was a set of instructions for the clergy on how people should worship God and the structure of church services.

The church was responsible for enforcing the religious settlement.  Visitations were inspections of churches and the clergy to ensure that everyone was following the terms of the religious settlement.  Any clergy found not to be following the terms were dismissed from their jobs.

The majority of people accepted Elizabeth’s religious settlement and attended the Church of England’s services, even though many of them held on their catholic beliefs.  The wording of the new prayer book helped because it could be understood to mean different things by Catholics and Protestants.  However some Catholics and Puritans (strict Protestants) tried to challenge Elizabeth’s religious settlement.

Task 1:

a)  What was Elizabeth’s main aim when establishing her ‘religious settlement’?

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________

b)  Give 2 reasons why some Catholics accepted the religious settlement.

______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

c)  Give 2 reasons why some Protestants accepted the religious settlement.

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

d)  What is a visitation?
e)  Define the term ‘Puritan’.

Task 2 (4 mark question) 

Give 2 features of Elizabeth’s religious settlement

Feature1:_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Feature2:_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Checked by teacher: __________________   Date: ________________
Cycle 2:  Week 4                                                                      Homework 4
Consolidation:  Plots and revolts at home

Mary’s arrival in England triggered various plots which culminated in her execution in 1587.

The Revolt of the Northern Earls, 1569

Some northern catholic nobles such as Westmorland and Northumberland wanted to have more power in the north of England and at court.  They wished to restore Catholicism in England.
The plan for the Revolt:

· The earls of Westmorland Northumberland to raise rebel forces in the north of England and take control of Durham (the biggest town in the north)
· The rebels will then march south to join forces with the Duke of Norfolk (a protestant senior noble) who disliked the favouritism Elizabeth showed to William Cecil and Robert Dudley.

· Several thousand Spanish troops will land in Hartlepool (in the north) to support rebel forces.

· The Duke of Norfolk and the rebel forces will seize control of the government in London and overthrow Elizabeth.

· Any resistance will be overthrown by the Spanish troops

· Mary, Queen of Scots will be freed ready to marry the Duke of Norfolk and take the English throne.

What happened?

Robert Dudley informed Elizabeth of the plot and Norfolk was arrested and sent to the Tower of London on 1st November 1569.  When they heard the news, the Earls of Westmorland and Northumberland pushed ahead with the revolt.  They took control of Durham Cathedral and destroyed any evidence of Protestantism.  They reinstated catholic mass in its place.  Catholics across the north celebrated this victory with holding masses in churches across the north east of England.  The rebels then headed south.  

However the revolt failed because Span’s supporting troops never arrived and Elizabeth managed to raise an army of 14,000 men.  The revolt was crushed and approximately 450 rebels were executed throughout the towns and villages of northern England on Elizabeth’s orders.  Westmorland escaped but Northumberland was captured and executed in York in 1572.
The failed revolt led the Pope to take action against Elizabeth.  In 1570 he issued the Papal Bull that excommunicated Elizabeth and called on all loyal Catholics to depose her, hoping that it would encourage another rebellion.  The papal bull marked a turning point for English Catholics as their loyalty to Elizabeth was now always in doubt.
The Ridolfi plot, 1571

Ridolfi was one of the Pope’s spies living in England.  In 1571 he arranged a plot to murder Elizabeth, launch a Spanish invasion and put Mary, Queen of Scots, on the throne.  As with the Revolt of the Northern Earls, the plan was for Mary to be married to the Duke of Norfolk.

Cecil uncovered the plot.  He gathered evidence (letters in code) to prove that Duke of Norfolk was guilty of plotting against Elizabeth.  Consequently Norfolk was executed.  Ridolfi was abroad when the plot was uncovered and never returned to England.

The plot was significant as it reinforced the threat posed by Mary and the Catholics to Elizabeth so soon after the papal bull was issued.  It also reinforced the threat from Spain.

The Throckmorton Plot, 1583.

The Throckmorton Plot was for the French Duke of Guise to invade England, free Mary, overthrow Elizabeth and restore Catholicism in England.  Phillip II (King of Spain) would provide financial support.  Throckmorton, a young Englishman, would act as the go between with Mary.
Sir Francis Walsingham uncovered the plot.  His agent found incriminating papers at Throckmorton’s house.  Throckmorton was arrested and executed.  This plot once again emphasized the threat Mary posed to Elizabeth.  It also showed the potential threat if the forces of Spain and France were to combine in the future.

The Babington Plot, 1586

The Babington Plot centred on the murder of Elizabeth and encouraged English Catholics to rebel.  The plot was for the French Duke of Guise to invade England and put Mary on the throne.  Both the Pope and King Phillip II supported the plot..  Babington was an English catholic with links to the French.  He wrote a letter to Mary, Queen of Scots, about the plot.  However the letter was intercepted by Walsingham.  Babington was arrested and executed and Mary was finally tried by the Pricy Council.  Found guilty, Mary was sentenced to death in February 1587.
Task 1: 

Give two reasons why the Revolt of the Northern earls in 1569 was such a major threat to Elizabeth.

_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Task 2:  

Describe two features of the plots against Elizabeth I in the years 1571-86.

Feature 1: ______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Feature 2: ______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Task 3:

Compare the threats to Elizabeth from 1571-86.  Which was the most serious and why?

______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Checked by teacher: __________________   Date: ________________

Cycle 2:  Week 5                                                                      Homework 5

Consolidation:  The decline of Anglo-Spanish relations
In the 16th century, the Netherlands was controlled by King Phillip of Spain.  He was a strict Catholic and set up the Spanish Inquisition in the Netherlands to stamp out Protestantism.  as a result Dutch protestants were persecuted.  In 1566 the Dutch protestants rebelled against the Spanish.  King Phillip sent the Duke of Alba with an army of 10,000 men to the Netherlands to put down the revolt.

The Duke of Alba’s presence in the Netherlands concerned Elizabeth because they were within striking distance of England.  Elizabeth wanted to avoid a war at all costs as England did not have the resources to take on Spain.  However, she was under growing pressure from her Privy Council to deal with the threat posed by Alba’s presence in the Netherlands.  So Elizabeth indirectly supported the Dutch protestants in the following ways:
· Elizabeth allowed the sea beggars (Dutch rebels in the English Channel who attacked Spanish ships) to shelter in English harbours

· She pursued friendly relations with France (for example she offered the promise of a marriage alliance with the heir to the French throne, the Duke of Alencon believing this would alarm Phillip II to give the Dutch their independence back)

· She encouraged others to fight the Spanish in the Netherlands (for example she used her influence with the Duke of Alencon to encourage him to the fight the Spanish in the Netherlands)

By 1576 the Spanish government in the Netherlands was bankrupt.  Spain’s forces in the Netherlands mutinied after months without pay and rampaged through Dutch provinces.  The violence from the Spanish army united all 17 Dutch provinces (Catholic and Protestant) together against Spain.  They drew up a list of demands known as the Pacification of Ghent stating that they wanted all Spanish troops expelled from the Netherlands and the end of religious persecution.  Phillip II’s brother, Don Juan agreed to all of the terms in the Pacification of Ghent.
However 6 months after the Pacification of Ghent was signed, King Phillip sent a new army to attack the Dutch.  Still wanting to avoid a war, Elizabeth decided to hire a mercenary (a soldier who fights for money) and financed him to raise an army of 6,000 English and Scottish volunteers to help the Dutch.  The fact that it was volunteers led by a mercenary was important as it meant that Elizabeth was not officially sending an English army to fight the Spanish in her name.  This plan backfired however, when the volunteers attacked catholic churches in the Netherlands.  The Dutch Catholics, as a result turned to king Phillips of Spain for help.

Elizabeth turned again for support from the Duke of Alencon.  She agreed to give him £70,000 for support in the Netherlands.  However, he failed to win.  In 1584 the Duke of Alencon died and one month later, the leader of the Dutch Protestants was assassinated.

Then in 1584 the French Catholic League signed the Treaty of Joinville with King Phillip of Spain to secure his help against the French protestants.  This was supported by the French king.  This meant that France and Spain were now allies against Protestantism.
Task 1:

Explain 2 ways in which Spain indirectly put pressure on Spain to leave the Netherlands.

______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Task 2:

Why was the death of the Duke of Alencon so important for Elizabeth?

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Task 3:

Why was the Treaty of Joinville a ‘turning point’ in Anglo-Spanish relations?

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_________________________________________________________________________________________________________________________________________________________________________________________________________

Task 4:

Who was most to blame for the deterioration in Anglo-Spanish relations:  Elizabeth or King Phillip?  Justify your answer.

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Checked by teacher: __________________   Date: ________________

Cycle 2:  Week 6                                                                      Homework 6

Consolidation:  The defeat of the Spanish Armada
Use the revision notes on p.28 of this booklet to help you answer the following 12 mark question.
Explain why the Spanish Armada was defeated in 1558.  Remember you need to write 3 PEEL paragraphs.

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Checked by teacher: __________________   Date: ________________

Cycle 2:  Weeks 7&8                                                               Homework 7&8

Revision

Create revision resources on Elizabeth units 1, 2 and 3 as preparation for your PPE.
You can make flash cards, mindmaps, bullet point lists, spidergrams or any other resource that helps you to revise.

Revision notes for Paper 2:  Superpower Relations and the Cold War and Elizabethan England

Unit 1:  Queen, Government and religion 1558-69

Elizabethan Society

There was no police force or permanent army in Elizabethan England and so keeping order relied on a clear social structure in which everyone knew their place and had a role.

The monarch was at the top of society as the most important member of the nobility, followed by:

· The nobility (relatives of the royal family and powerful and rich landowners)

· The gentry (rich landowners)

· Merchants (rich traders and businessmen)

· Yeomen (small landowners)

· Professionals (lawyers, doctors)

· Tenant farmers (people who rented land from the yeomen) and smaller business owners

· Skilled craftsmen (carpenters, glovers, blacksmiths etc)

· Landless labouring poor and unskilled workers

· Vagrants (the homeless)

Wherever you were in Elizabethan society, you owed respect and obedience to those above you.

Elizabethan Government

The Royal Court:  Made up of members of the nobility.  They were the monarch’s key servants, advisers and friends.  Their role was to entertain and advise the monarch.

The Privy Council:  Made up of leading courtiers (from the Royal Court).  There were 19 members on the Privy Council and were chosen by the monarch.  They met at least 3 times a week.  They advised the monarch on government policy, made sure that the monarch’s final decisions were carried out, monitored JPs and monitored the proceedings of parliament

Parliament:  Made up of the House of Lords and House of Commons.  Parliament could only be called and dismissed by the monarch.  Their role was to grant taxes, pass laws and they offered advice to the monarch

Lords Lieutenant:  Each county had a Lord Lieutenant chosen by the monarch.  They were members of the nobility and they were in charge of enforcing policies in their county and raising and training the local militia

JPs:  They were large landowners who kept law and order in their local areas.  They reported to the Privy Council.

Monarchs during Tudor times believed they had Divine Rights – that their right to rule came directly from God.

Problems facing Elizabeth upon her accession:

1) Legitimacy.

Catholics did not regard Elizabeth as a legitimate queen as she was the daughter of Henry VIII’s second wife.  Catholics do not believe in divorce and so did not accept her as the rightful heir to the English throne.

2)  Gender

Many felt that a single woman could offer a strong, effective monarchy.  A female ruling alone was seen as weak and vulnerable

3)  Marriage

Marriage would hopefully lead to an heir and this would settle the problem of succession in the event of Elizabeth’s death.  However, the only suitable man would be a foreign prince and Elizabeth was worried that he would put England’s’ needs second to his own country.

4) Financial problems

When Elizabeth became Queen, her government did not have a lot of money.  This was because previous monarchs had fought costly wards.  To be strong Elizabeth needed to be wealthy.  Defending England and her throne was expensive.

5)  The Scottish threat.

Scotland was ruled by Elizabeth’s cousin, Mary, Queen of Scots.  Mary was a catholic and believed she had more of a claim to the English throne than Elizabeth.  This was a source of worry for Elizabeth.  Scotland had also formed the Auld Alliance with France.  France was a strong catholic county.

6)  The French threat

France was England’s traditional enemy.  France was wealthier than England and deeply catholic.  Under Bloody Mary, the English had lost the French port of Calais which they had controlled since 1347.  Many English were angry about this and wanted Elizabeth to reclaim it.

The settlement of religion

There were religious divisions in England when Elizabeth became queen.  Her father, Henry VIII had created the Church of England which began the English reformation (turning England from a catholic country to a protestant county).  Mary (Elizabeth’s half-sister had restored catholic when she was queen.  This had upset the puritans (strict protestants)

Some parts of England were more catholic than others eg: the north of England.  London and the south east tended to be more protestant.  Elizabeth was a protestant but wanted to find a compromise when it came to England’s’ religion.  This meant establishing a form of Protestantism that most Catholics would accept.

In 1559 Elizabeth established her religious settlement;

The act of supremacy – made Elizabeth supreme governor of the Church of England.  All clergy had to swear an oath of loyalty to her as the head of the church.

The Act of Uniformity – this established the appearance of churches and the form of services they held.  The form of church service was set out in the Book of Common Prayer and all clergy had to use the wording of the prayer book when conducting church services.  This Act also ordered that everyone was to attend church on a Sunday and other holy days.

The Royal Injunctions – a set of instructions for enforcing these acts.  These were given to the clergy.

Visitations were carried out to ensure that these Acts were being followed.

Some Catholics were accepted Elizabeth’s religious settlement because:

· Images were still used in churches and 

· Priests could still wear their special vestments.

Some Protestants accepted Elizabeth’s religious settlement because:

· Services were held in English

· the Bible was written in English

Challenges to the religious settlement

The Puritan Challenge

Puritans were happy that Elizabeth reintroduced Protestantism but did not like some of the remaining traces of the Catholic Church such as the images displayed in churches and the special vestments worn by priests.

The crucifix controversy – Elizabeth demanded that each church should display a crucifix (an image of Jesus dying on the cross).  To puritans, crucifixes represented idols and so some puritan bishops threatened to reign when Elizabeth ordered that they were to be displayed.  Elizabeth had to back down because there weren’t enough protestant clergymen to take place of the catholic clergymen who had been dismissed.

The vestments controversy – Elizabeth wanted Protestants to wear special vestments.  Puritans were against this as believed priest’s vestments should be plain and simple.  By 1565, it was clear that not all clergy were wearing the special vestments and some were dismissed form their jobs as a result.

The catholic challenges

The Pope – in 1566 the Pope issued an instruction to English Catholics.  He told them not to attend Church of England services.  Some Catholics did not attend church but Elizabeth did not enforce punishments.

The revolt of the Northern Earls – in 1569 the Earls of Northumberland and Westmorland led a rebellion in the north of England against Elizabeth.  During the rebellion they took hold of Durham Cathedral and reinstated full catholic mass.  Although the Earls appealed to the northern catholic nobility for support, the vast majority of catholic nobles stayed loyal to Elizabeth.  The rebellion was successfully put down and hundreds of rebels were executed in towns and cities across the north.

The problem of Mary, Queen of Scots

Mary, Queen of Scots was a catholic with a strong claim to the English throne.

Mary fled to England in 1568 as the protestant Scottish lords claimed that she was guilty of murdering her second husband, Lord Darnley.  On arriving in England, Mary wanted Elizabeth to help her to reclaim the Scottish throne.  Elizabeth refused for fear of upsetting the Scottish protestant nobles.  Elizabeth allowed Mary to remain in England but in captivity – she couldn’t allow Mary to have complete freedom because it was thought that the English Catholics might try to put Mary on the English throne.  Neither, did she execute Mary as she believed that it went against God’s will to execute an anointed monarch. Mary’s arrival in England increased Elizabeth’s fears of plots and rebellions.

Unit 2:  Challenges at home and abroad 1569-88

Plots and revolts at home

The Revolt of the Northern Earls, 1569

· Led by the Earls of Westmorland and Northumberland in the north of England.

· The Earls were catholic and unhappy with Elizabeth’s religious settlement.  They were also angry because they lost their power in the royal court.

· The Earls took hold of Durham cathedral and reinstated catholic mass

· The rebels also took hold of Hartlepool on the coast.  This worried Elizabeth because she feared that Spain might send troops to help the Earls

· Elizabeth raised an army and the revolt was crushed.

· 450 rebels were executed throughout the towns and cities of northern England

· Elizabeth’s brutal punishment of the rebels led to the Pope issuing the Papal Bull which called upon all Catholics to depose her

The Ridolfi plot, 1571

· Ridolfi was an Italian banker living in England and was one of the Pope’s spies.

· He arranged a plot to murder Elizabeth, launch a Spanish invasion and put Mary, Queen of Scots on the throne.  She was to marry the Duke of Norfolk

· William Cecil uncovered the plot and Norfolk was executed.

The Throckmorton Plot, 1583

· This planned for the Duke of Guise (cousin to MQS) to invade England, free Mary, overthrow Elizabeth and restore Catholicism in England.

· Spain would provide financial backing

· Walsingham uncovered the plot and Throckmorton was arrested and executed.

The Babington Plot, 1586

· Centred on the murder of Elizabeth and encouraged English Catholics to rebel.

· The plot involved the Duke of Guise invading England and put Mary on the throne.  

· Willingham uncovered the plot and Babington was executed.

· This plot also led to the execution of MQS

Relations with Spain

Elizabeth’s foreign policy (DAP)

· Develop trade with other countries 

· Avoid war

· Protect England’s borders and the throne

New World – new discovered north and South America.  Spain controlled much of the new World where there were valuable, new trading opportunities.

In 1572 Elizabeth hired Drake as a privateer.  He became the second person in the world to circumnavigate the world.  Drake claimed lad in the New World (New Albion) and brought £400,000 of Spanish treasure back with him.

Elizabeth’s indirect involvement in the Netherlands

· Spain controlled the Netherlands and tortured Protestants.  

· In 1866 the Dutch protestants rebelled against Spanish rule

· They asked Elizabeth for help but she was reluctant to get directly involved as she knew it would cause a war between England Spain, which she could not afford.

· Instead she indirectly helped the Dutch protestants by allowing the sea beggars to arbour in English ports and sending money to help them

· In 1568, Elizabeth stole the Genoese loan (money loaned to Spain from Italy so that Phillip could pay his troops in the Netherlands)

· By 1576 the Spanish government in the Netherlands was bankrupt and Spain’s forces in the Netherlands mutinied after months without pay.  They rampaged through Dutch towns.  The Dutch Catholics and protestant united together against Spain and drew up the Pacification of Ghent.

· The Pacification of Ghent demanded that all Spanish troops to be expelled from the Netherlands and an end to religious torture.  Spain was forced to sign this and Elizabeth believed she had achieved her goals in the Netherlands

· However, within 6 months, Phillip II of Spain sent a new army to the Netherlands.  The Dutch Protestants asked Elizabeth for support again.  Elizabeth sent Casimir  (a mercenary) over to help the Dutch.  However Casimir devastated catholic Dutch churches which caused the Dutch Catholics to turn to Spain for support.

· In 1584 France and Spain signed the Treaty of Joinville in the fight against Protestantism.

Elizabeth’s direct involvement in the Netherlands

· Due to the Treaty of Joinville, Elizabeth signed the Treaty of Nonesuch in 1585.  This treaty meant that Elizabeth was now directly involved in the Netherlands and she sent over an army to help the Dutch protestants fight the Spanish.

· Elizabeth knew that a Spanish invasion was inevitable and so in 1587, Elizabeth ordered Drake to attack Spain’s navy.  Drake sailed into Cadiz Harbour and over 3 days destroyed 30 ships as well as a great deal of the fleet’s provisions.  This attack was known as the ‘singing of the King of Spain’s beard’.

· Drake then spent several weeks attacking the coast of Portugal.  This caused Spain to break off from building the Armada so that they could defend Portugal from Drakes attacks

· Drakes disruption meant that the Spanish armada was delayed by a year

The Spanish Armada

· The armada was the largest fleet Europe had ever seen – 130 ships, 2,431 guns and around 30,000 men.

· The Spanish armada was under the command of the Duke of Medina-Sidonia.

· The plan was for the Armada to sail up the English Channel to the Netherlands and then join forces,  Together they would sail to Kent to invade England

· The invasion was to be a signal for English Catholics to rebel against Elizabeth.
The Spanish Armada failed for a number of reasons:

· Drake’s attack on Cadiz mad Phillip rush his preparations.  Phillip appointed Medina-Sidonia the leader of the Armada who wasn’t as experienced as the English admiral, who provided excellent leadership for the English fleet.

· The Spanish face poor weather.  The armada sailed into a storm just after its departure and repairs had to be made to several ships.

· The English had light, fast moving battle ships – the opposite of the Spanish.

· When the Spanish fleet anchored at Calais, the English used fire ships to disperse them and so scattered the Armada making it easier for the English to attack.

· Communications between Parma and Medina Sidonia had to go by sea and therefore unreliable.  It took a week for word to reach Parma that Medina Sidonia was in the Channel.  His message came too late.  Therefore he was no there to support Medina Sidonia in the Battle of Gravelines.

· Following Gravelines, the Spanish fleet was driven north by strong winds and was unable to sail towards the Channel.

· The Spanish lost about 50 ships and 20,000 men due to the storms.

Consequences of the English victory

· England had survived an attack by a more powerful country.

· the Anglo-Dutch grew stronger

· The defeat showed the strength of the English navy and gave England the confidence to trade and explore more widely on the open sea.

· The armada marked a long decline in Spanish fortunes

Unit 3:  Elizabethan Society in the age of Exploration 1558-88

Education

Nobility

The children of the nobility learned a variety of subjects such as foreign languages, History, philosophy and Theology from tutors in their own homes.  They also learned a variety of skills expected of upper class men and women.  Girls learned needlework, horse riding and archery and boys learned archery, fencing, wrestling and swimming.  Boys and girls were tutored separately.

The middling classes
The greatest change in education was the development of grammar schools; 42 were founded in the 1560s and 30 more in the 1570s.  Grammar schools were private schools set up for boys who were considered bright and who came from well-off families.  Girls could not attend grammar schools.  Boys learned Latin and studied the ancient, classical historians and writers.  They had to memorise huge quantities of text such as Bible passages.

Petty Schools

These were set up and run in the teacher’s own home.  Boys, whose parents could afford to send them to school, began their education here.  They learned reading, writing and arithmetic.

Dame schools

These were also set up in the teacher’s own homes and were for middle class girls.  They learned how to preserve food, bake, sew and treat simple injuries.

Most Elizabethans received no form of education as the majority of the population were farmers or labourers.

The problem of the poor

Why did poverty increase?

· The population in Elizabethan England grew by 35%.  The populations of towns and cities grew particularly fast.  These people couldn’t grow their own food and this put pressure on food production in the countryside.  Because there were more people to feed, the price of food increased which resulted in poverty.

· Prices of food also rose due to bad harvests

· Poverty increased because wages did not rise as fast as prices.  With more people wanting work, labour was cheaper and many employers cut wages to keep their costs down.

· Sheep farming became more popular in the countryside.  Sheep farming didn’t need as many labourers as arable farming (growing crops) and so some labourers lost their jobs and searched for work in the nearby towns.

· Common land in the countryside was enclosed meaning that ordinary people could no longer use this land to collect firewood, graze their cows and set traps to catch rabbits etc.  This caused poverty for many living in the countryside.

· Conflict with Spain meant that the Netherlands stopped buying wool from England which affected the English woollen trade and caused unemployment in the countryside.

Vagabondage

Due to increased poverty, the number of vagabonds rose.  Vagabonds were homeless people without jobs who roamed the countryside begging for money.

How did the government deal with the poor?
1563 Statue of Artificers

· Aim:  to ensure that poor relief (tax) was collected.

· Anyone who refused to pay could be imprisoned.

1572 Vagabonds Act

· Aim to deter vagrancy

· Vagrants to be whipped and a hole drilled through each for first offence for vagrancy.

· Imprisoned for second offence of vagrancy

· Death penalty for third offence

· Act also established the national poor rate and JPs were to keep a register of the poor.

1576 Poor Relief Act

· JPs provided able bodied poor with wool and raw materials to enable them to work by making things to sell.

Why did the Elizabethans explore?

· Expanding trade – England needed to look for new countries to trade with due to conflict with Spain.  the New World opened up lots of new opportunities

· New technology – quadrants and astrolabes helped navigation to become more precise.  Printed books detailing voyages became available.  This made journeys quicker.  Ship design also improved making longer journeys possible.  Galleons were developed – these were large ships which enable more supplies to be taken on board, which was essential for long journeys.

Raleigh and Virginia

In the 1580s Raleigh promoted the idea of establishing a colony in the New World.  However the first attempt to colonize Virginia failed – why?

· The voyage:  the colonists left England too late to reach Virginia in time to plant crops.  This meant that they would have to rely on the Native Americans for food.  The Tiger – the ship carrying their supplies – became damaged in a storm.  The food this ship carried was ruined, including the seeds for planting

· The colonists.  107 left England rather than the 300 Raleigh hoped for.  They were all men and more than half were soldiers and therefore they weren’t enough farmers.  There were lots of skilled craftsmen but they didn’t have the necessary raw materials to make things out of when they got to Virginia.
· The Native Americans:  the colonists were reliant upon the Native Americans for survival.  Wingina, the local chief of Roanoke Island, turned against the English colonists due to their constant demands for food handouts.  There were violent clashes between the Native Americans and the colonists and Wingina was killed.  This turned other Native Americans against the colonists

Superpower Relations and Cold War 

Revision notes

Ideological differences

The Soviet Union, the USA and Britain were ruled to different ideologies.

Britain and the USA were capitalist and the Soviet Union was communist.

Capitalism:  the belief that everyone should be free to own property and businesses and make money.

Communism: the belief that all property, including homes and businesses, should belong to the state so that everyone is equal.

These ideological differences caused mistrust between the superpowers and meant they had different aims about post-war Europe.  The USA feared the spread of communism and the Soviet Union wanted communist satellite states to prevent future invasion.

The Grand Alliance.

During WWII, the Soviet Union, Britain and the USA formed an alliance to join together to fight against Hitler and Nazi Germany.  This alliance as called the Grand Alliance.

The aim of this alliance was to mastermind the defeat of Germany and Japan in the Second World War.

The leaders of the Grand Alliance met three times:  Tehran, Yalta and Potsdam.

The Tehran Conference – 1943.

The aim of this conference was to plan a winning strategy to end the war.

The outcomes were:

· The USA and Britain agreed to launch an attack on the Western Front which would mean Hitler having to send troops to fight them.  This would mean that some troops would be taken out of the Soviet Union giving the Soviets an opportunity to push the rest of the Nazi troops out of the Soviet Union

· Stalin would declare war against Japan and send troops to help the USA defeat Japan – but only once the war against Germany had been won

Yalta Conference – Feb 1945

The aim of this meeting to discuss winning the war and the governments of post-war Europe.  By the time of this meeting the British and the Americans had launched a second attack on the Western Front and were pushing the Nazis back towards Germany.  The Soviets had defeated the Nazis in the Soviet Union and now had control of most of central and Eastern Europe.

Outcomes were:

· Germany and Berlin were to be split into 4 zones after they defeated Germany.  The USSR, the USA, Britain and France would each control a zone.

· Germany would be forced to pay reparations

· The Nazi Party would be banned and war criminals  prosecuted.

· A united Nations would be set up

· The future governments of Soviet occupied countries in Eastern Europe would be decided in free elections

Potsdam Conference – July 1945

By the time of this conference, the war against Germany had ended.

However, Truman replaced Roosevelt as the new American president.  Truman was anti-communist.

Outcomes:

· Germany and Berlin was divided into 4 zones as had been discussed at Yalta.

· Germany was de-Nazified: the Nazi Party was banned and leading Nazis were put on trial for war crimes

· However, agreement was not reached about the governments of Soviet occupied Eastern European countries.  

By the end of Potsdam, it was clear that there were significant issues on which the Grand Alliance could not agree.  Stalin wanted control of Eastern Europe to ensure the security of the Soviet Union.  Truman did not want Stalin t have control of Eastern Europe because he believed Stalin was trying to spread communism.

The creation of soviet controlled satellite states

Satellite states – a country under the influence or control of another.

After the end of WWII, the Soviet Union took control of countries bordering them.  The Soviet Union had been invaded twice by Germany and they wanted to ensure that they wouldn’t be invaded again so they took control of the countries bordering them so that they would act as a buffer against future invasion.

Elections were held in these countries but were rigged to ensure that communist governments were set up.

The Soviet satellites states were:

· Czechoslovakia

· Poland

· Romania

· Hungary

· Bulgaria and

· East Germany

Consequences:

· The satellite states provided security for the Soviet Union and provided a buffer against future invasion

· The creation of the Soviet satellite states intensified rivalry as the USA, Britain and France believed that Stalin was trying to spread communism and expand the Soviet empire

· Europe was now split into two political camps: the communist East vs the capitalist West

Rivalry between the two superpowers intensified between 1947-49.

The Truman Doctrine and the Marshall Plan.

In 1947 the USA began a policy of ‘containment’.  Truman believed that the Soviet Union was trying to spread communism and Greece and Turkey were being threatened with a communist takeover.  So in 1947, Truman gave a speech known as the ‘Truman Doctrine’.  In his speech he said that communism was evil and should be contained or prevented from spreading to non-communist countries.  Truman gave money to Greece and Turkey to invest in their economy to prevent a communist takeover.

An outcome of the Truman Doctrine was the Marshall Plan.  The USA gave $17 billion to western European countries to help them rebuild their countries after the WWII and to improve standards of living.  He believed that by giving them this money, it would prevent them from turning communist.

Consequences:

· The Marshall Pan angered Stalin.  He called it ‘Dollar Imperialism’ and accused the USA of trying to ‘buy’ the influence of Western Europe and trying to crush the Soviet Union.

· It led to Stalin creating Cominform in 1947.  This was a political organisation to ensure that the satellite states followed communism and took orders from Moscow (capital of the Soviet union)

· It also led Stalin to create the Soviet equivalent of the Marshall Plan.  In 1949 he created Comecon to provide financial support to Eastern European countries.  Communist countries were told to trade with one another and not with non-communist countries.

The Berlin Crisis of 1948-49

In 1948 Britain France and the USA merged their zones in Germany and Berlin into one called Trizonia and introduced a new currency.

Stalin was furious about this.  He felt as though the West was ‘ganging up’ on the Soviet Union and forcing the Soviet zone into poverty.  Berlin was in the Soviet zone but the West Berlin was richer than East Berlin.

Stalin knew that West Berlin was vulnerable because it was surrounded by the Soviet Union.  There were just two land routes from the West into West Berlin and so Stalin decided to shut off the land routes.  This became known as the Berlin Blockade.  Stalin believed that by blockading the land routes into West Berlin, people living there would run out of food supplies and that the western powers might give up their control of their zones in Berlin and allow the whole of Berlin to be governed by the Soviet Union.

The Berlin Blockade was a direct challenge to the USA.  Stalin knew that the USA would not ignore the Blockade due to Truman’s speech about defending the world from communism.  Stalin also knew that if the west attempted to use the blocked off roads into Berlin it would be seen as an act of war and would lead to a military conflict.

The west responded by flying in supplies into West Berlin.  This was known as the Berlin Airlift or ‘Operation Vittles’.  They flew in coal, food and other necessities.  Ordinary citizens in Berlin helped unload the planes.  The USA flew in at least 1,000 tonnes of supplies every day and the British did the same.

By May 1949, the Soviet Union lifted the Blockade.

Consequences:

· It increased east-West rivalry as Truman saw the Airlift as a great victory.  The West had responded to an aggressive act by the Soviet Union in a peaceful way.  They had flown in supplies into West Berlin and people had survived.  Stalin, on the other hand saw this as a humiliating defeat because he had had to end the Blockade and he hadn’t solved the issue of Berlin.

· As a result of the event, two Germanys were created.  The West formally announced the creation of the Federal Republic of Germany (West Germany in May 1949 and Stalin created the Democratic Republic of Germany (East Germany) in October 1949.  West Germany had its own capital, currency and own freely elected Government.  It was seen as a country in its own right whereas East Germany was firmly controlled by the Soviet Union.

· West Berlin was still controlled by the USA, Britain and France.

· The event led to the formation of NATO.  The Berlin Blockade showed western powers that they needed a military alliance to protect themselves from the Soviet Union and so in April 1949, the USA, Britain, France and 9 other Western European countries formed NATO.  Members of NATO agreed that if any member was attacked all members of NATO would help them.  The creation of NATO meant that there was an American military presence in Europe for the rest of the Cold War.

· Stalin believed that NATO was aimed against the Soviet Union and so it led him to create a military alliance in 1955 called the Warsaw Pact.  This military alliance was made up of Communist countries.

· The creation of two military alliances meant that Europe was now divided in a permanent state of hostility and increased the risk of a real war.

In 1953 both the USA and Soviet Union had new leaders.

Eisenhower became the new president of the USA and Khrushchev became the new leader of the Soviet Union.  The change of leadership made people hopeful on both sides that tension would be reduced.  However this wasn’t the case as events in Hungary show!

Hungary – 1956

There were protests in Hungary in the mid 1050s.  People in Hungary were fed up with food shortages and lack of freedom and so they protested.  The Soviet Union replaced the leader of Hungary with a new Prime Minster called Nagy believing that this might stop the protests.  Nagy wanted to reform communism in Hungary.

Nagy’s reforms:

· he released political prisoners from prison

· he allowed non-communists into the government

Nagy then announced that he wanted to withdraw Hungary from the Warsaw Pact.  Khrushchev could not allow this to happen because it might lead to other satellite states withdrawing from the Warsaw Pact which would reduce the military power of the Soviet Union.

Therefore, Khrushchev ordered the Warsaw Pact troops to invade Hungary.  Supporters of Nagy in Hungary fought the Soviets (known as the Hungarian Uprising) and asked the West for military support to fight the Soviets.  However, no military support came and the Warsaw Pact troops crushed the Uprising.  Nagy was arrested and executed and Khrushchev replaced Nagy with Kadar who was a hard liner communist.

Consequences:

· The event strengthened Khrushchev’s position in the Soviet Union.  His actions sent a clear message to other satellite states that they would be invaded if they did not follow orders from Moscow.

· The event also proved that the USA would not get involved in the satellite countries meaning that Khrushchev could do wanted he wanted to do without risking a war with the USA

· The event made the USA and West look bad – they had promised to support getting rid of communism and yet when it came to it they did not provide military support in Hungary

The second Berlin Crisis 1958-61

By 1958, 3 million East Germans had crossed the border into West Germany because they were fed up with the poor wages and low standard of living in East Germany.  This worried Khrushchev as many of the people leaving for the West were skilled people such as doctors, engineers, teachers etc.  This was a propaganda disaster for the East because it showed that people preferred capitalism to communism.

Khrushchev had to stop East Germans leaving and so in November 1958 he issued the Berlin Ultimatum.  The Berlin Ultimatum demanded that 

· Berlin should become a free city and 

· That Western troops should leave Berlin.

Khrushchev gave the West 6 months to make these changes or he threatened that all routes into Berlin would be closed.

The west was outraged by this and saw it as another attempt of the Soviet Union trying to spread communism.  However by 1958 both the USA and the Soviet Union had large numbers of nuclear weapons and neither side wanted this crisis to lead to a war and so between 1959-61 a series of talks were held (summit meetings) to try to come to an agreement about the future of Berlin.

Summit meetings:

Geneva:  No agreement reached about the future of Berlin but there was an improvement in relationships and Eisenhower invited Khrushchev to his presidential ranch for further talks.

Camp David (Eisenhower’s home):    Again no decision was reached but relations improved again and Khrushchev withdrew the Berlin Ultimatum believing that they would reach an agreement soon.

Paris:  Just before this meeting, an American U2 Spy plane was caught flying over the Soviet Union.  The Soviets shot it down and interrogated the pilot who admitted to have been on a spying mission.  The Soviet Union was furious and Khrushchev demanded an apology form Eisenhower at this meeting.  Eisenhower refused to apologise and Khrushchev stormed out of the meeting.

Vienna:  By the time of this meeting Kennedy was the new president of the USA. Kennedy was young and inexperienced and Khrushchev believed that he would get his way so he went to the meeting and took a tough stance by renewing the Berlin Ultimatum.  Kennedy refused to back down and so yet again no agreement was reached about Berlin and relations between the two countries had become very strained.

Khrushchev returned to the Soviet Union.  Meanwhile more and more East Germans were flooding into West Germany.  On one night alone in August 1961, 40,000 East Germans crossed the border.  

The Berlin Wall

On the 12th August 1961 the leader of East Germany closed the border and East German troops built a barbed wire fence between East and West Berlin to stop others from leaving.  Work on a concrete wall soon began.

Consequences:

· The wall separated friends and families in Berlin for the next 40 years

· The wall stopped East Germans fleeing to the West

· The wall sent a clear message that communism would remain in East Berlin

· The wall showed that the Soviet Union had to lock people into East Germany and that given a choice they would leave to live in a capitalist country

· The Wall resolved the issues in Berlin and reduced the risk of a war between the two superpowers over Berlin

· The wall became a symbol of freedom and defiance against communism

The Cuban Missile Crisis

This was the most serious crisis of the Cold War.  

The USA had strong economic interests in Cuba and controlled most of Cuba’s industry.  In 1959, Castro led a successful revolution in Cuba and became the new leader.  Castro wanted independence from the USA and so took over all America owned industry and businesses and many pro- American Cubans were forced into exile

As a result the USA banned all trade with Cuba and so Castro made an agreement with the Soviet Union and Khrushchev agreed to buy Cuban sugar and provide economic aid to Cuba.

This led to Kennedy seeking the advice from his CIA.  They suggested that a group of Cuban exiles could be trained to launch an invasion and overthrow Castro.  Kennedy agreed to this and in April 1961, a force of 1,400 Cuban exiles landed at the ‘Bay of Pigs’ in Cuba.

The ‘Bay of Pigs’ invasion was a humiliating defeat for the USA.  There were 20,000 Cuban soldiers waiting to fight off 1,400 invaders.  The USA wrongly assumed that most Cubans would support the USA but they didn’t.

The ‘Bay of Pigs’ invasion led to stronger relations between Castro and Khrushchev.  After defeating the invasion, Castro declared himself to be a communist and asked Khrushchev to help him defend Cuba against any future attack from the USA.  Khrushchev agreed and started sending arms to Cuba.

In October 1962 an American U-2 spy plane took photos of what looked like launch pads for ballistic missiles on the island of Cuba and so in October 1962 Kennedy called together an Executive Committee (ExComm) to discuss how the USA should react.  ExComm met every day for 13 days during which the world faced the threat of nuclear war.

The Thirteen Days
22nd Oct – Kennedy decided to set up a naval blockade around Cuba

24th October – the Soviet ships reached the blockade

26th Oct – Khrushchev sent Kennedy a telegram offering to remove missiles from Cuba if USA agreed not to invade Cuba.

27th October – Khrushchev sent Kennedy another telegram saying that he would only remove missiles in Cuba if the USA removed their missiles from Turkey

Kennedy ignored the second telegram and went with the first and on the 28th October, Khrushchev sent his agreement.

Consequences of the Cuban Missile Crisis:
· a hotline was set up between Moscow and Washington

· A Test Ban Treaty was signed by the USA, Britain and the Soviet Union – they agreed to prohibit the testing of nuclear weapons in outer space, underwater or in the atmosphere.

· The Non-proliferation treaty was signed in which countries agreed not to share their nuclear technology with other countries in the hope this would stop the spread of nuclear weapons

· The Outer Space Treaty was signed – the superpowers agreed not to use space for military purposes

Czechoslovakia

In the 1960s life was shard in Czechoslovakia – standards of living were low, there was secret police and tight censorship.

In 1968, Dubcek became the new leader of Czechoslovakia – he was a devout communist but wanted to reform communism in Czechoslovakia and so he introduced the ‘Prague Spring Reforms’.

Some examples of the ‘Prague Spring’ reforms were:

· censorship was relaxed

· Trade with the west increased.

· Czech people given greater freedom to travel abroad.

The new leader of the Soviet Union, Brezhnev, disproved of these reforms.  He thought that other satellite states might also want to introduce reforms of their own thereby lessening the power of the Soviet Union over these countries and so in August 1968 the Warsaw Pact, under the orders of the Soviet Union, invaded Czechoslovakia and ended the Prague Spring.  Dubcek was arrested and sent to Moscow and Husak – a hardliner communist – became the new leader of Czechoslovakia.

Consequences:

· Was the beginning of the Brezhnev Doctrine – Brezhnev said that if any satellite state went against orders from Moscow then they would be invaded.

· The Prague Spring ended in Czechoslovakia

· some satellite states turned against the Soviet Union because of their actions

· Brezhnev established his control as the new Soviet leader

Why was there a policy of détente in the 1970s?

After the Second World War, an arms race developed between the USA and Soviet Union.  They soon had enough long-distance weapons to completely destroy their rivals.  With this great firepower, the result of war would be ‘Mutually Assured Destruction’ (MAD).  Neither country wanted to risk a war which would lead to their own destruction.  However the Cuban Missile Crisis showed that even if the leaders of the USA and Soviet Union didn’t want a war, they could lose control of events and so during the 1970s there was a genuine attempt to have a more co-operative and stable relationship.  The policy has generally been referred to as ‘détente’.

Apart from wanting to avoid plunging the world into nuclear war, both the USA and Soviet Union had their own internal reason for improving relations in the late 1960s / early 1970s.
	
	Reasons for wanting detente

	The USA
	President Nixon wanted to reduce the amount of money the USA was spending on nuclear arms.

There were large scale demonstrations in the USA about its involvement in the Vietnam War.  Nixon wanted to withdraw troops from Vietnam and therefore wanted to try to rebuild relations with the Soviet Union.

There was also social unrest in the USA due to inequalities between rich and poor and black and white people.  Nixon wanted to concentrate on improving this rather than spending time focusing on international affairs.

	The Soviet Union
	The Soviet Union was facing economic problems and Brezhnev wanted to reduce spending on nuclear arms so that more money could be spent on improving living standards

The Soviets felt that this was a good time to look at improving relations with the USA because they felt that they were the USA’s equals in nuclear weapons capacity.


The most important agreement between the USA and Soviet Union during Détente was SALT 1 (Strategic Arms Limitation Treaty).  This treaty set out terms which limited specific nuclear weapons.

Terms:

· Anti-Ballistic Missiles were only allowed on two sites and each site to have no more than 100 missiles.

· The USA was only allowed to have 1,054 ICBMs and 740 SLBMs and the Soviet Union was allowed 1,618 ICBMs and 740 SLBMs.  (The Soviet union was allowed more ICBMs because the USA had more strategic bombers)

· The placing of warheads on the seabed was banned.

In 1973 33 nations from NATO and the Warsaw Pact met to build on the spirit of co-operation that had been established in SALT 1.  As a result of these meetings, the Helsinki Agreements were reached in 1975.  Agreements were reached in three areas known as ‘baskets’.

Basket 1:

Country’s borders cannot be altered by force.

Basket 2:

Western and Soviet countries agreed to trade with one another and agreed a joint space mission.

Basket 3;

The countries agreed to respect human rights and individual freedoms such as free speech and religion.

SALT 2

The superpowers continued working on SALT 2 which would include restrictions on missile launchers and strategic bombers.  However, in December 1979, the Soviet Union invaded Afghanistan, bringing the period of détente to an end...  When the Soviet Union sent troops into Afghanistan, President Cater withdrew form SALT 2.
Soviet invasion of Afghanistan

Then Soviet invasion of Afghanistan ended the period of détente.

In 1979 there was a revolution in Iran and a Muslim fundamentalist Government was established.  This influenced pro-Muslim groups in Afghanistan to attempt to overthrow the government.  As Afghanistan borders the Soviet Union, this worried Brezhnev as there were millions of Muslims living there and so in December 1979, 50,000 Soviet troops invaded Afghanistan to restore order and protect the People’s Democratic Party of Afghanistan from the Muslim guerrilla movement known as the Mujahideen.

The USA saw the invasion of Afghanistan as the Soviet Union attempting to spread communism and so President Carter withdrew the SALT 2 proposal and increased spending on arms.  In his speech to the American people, Carter said that they would use military force, if necessary,  to defend their oil interests in the Persian Gulf and that they would give military aid to all countries bordering Afghanistan.  (This was known as the Carter Doctrine)  Carter also began sending weapons and funds to the Mujahideen.

In 1980 there were a presidential election in the USA and Ronald Reagan won a landslide victory, mainly because he said that Carter was weak and that the time had come for the USA to reclaim its position on the world stage and stand up to communism.

In protest against the invasion of Afghanistan, the USA led a boycott of the 1980 Olympic Games which was held in Moscow.  Over 60 nations supported the boycott.  The boycott was so effective that with many of the best athletes staying away, some events at the Moscow Games were made to look second-rate.  The Soviet Union was very angry and relations with the USA deteriorated further.

Reagan’s tough approach towards the Soviet Union led to a period of tense and hostile relations, often referred to as the ‘Second Cold War’.  For example:

· Reagan increased spending in on arms by 13% in 1982, a further 8% in 1983 and 1984.

· New weapons such as Trident Submarines and stealth bombers were developed

· The Reagan Doctrine stated that the USA would support anti-communist governments and anti-communist groups trying to overthrow communist governments

· In 1983 Reagan announced the Strategic Defence Imitative (SDI) which would place a series of satellites in orbit.  These satellites would carry powerful lasers that could shoot down Soviet missiles.  This was against the terms of the Outer Space Treaty signed in 1967.

Consequences of the SDI

· The SDI programme was a turning point in the Cold War.  During the détente period, the two superpowers had been evenly matched and had worked together to limit the growth of nuclear stockpiles.  SDI was a complete break from this policy.

· The Soviet Union could not compete with the SDI programme.  They were behind the USA in space and computer technology and did not have the money to develop their own satellites in space.

The collapse of Soviet control

Gorbachev was the last leader of the Soviet Union and he was prepared to adopt drastic measures to improve superpower relations because he knew that without change the Soviet Union would collapse.  So what did he do?

Gorbachev introduced the following policies:
· He introduced economic reforms to make the Soviet economy more efficient.  This was called ‘perestroika’.

· He relaxed censorship of the press.  This was called ‘glasnost’.

· He ended the Brezhnev Doctrine which meant that the Soviet Union would no longer get involved in the domestic affairs of the satellite states.

· He reduced spending on arms and withdrew Soviet troops from Afghanistan.
A series of Summit meetings took place between 1985-90 to discuss arms limitations.

	Geneva Summit

1985
	No formal agreement reached about arms limitation but Gorbachev and Reagan established a good working relationship

	Reykjavik Summit

1986
	Gorbachev suggested that that the Soviet Union would phase out their nuclear weapons if the USA gave up their SDI programme.  Although agreement wasn’t reached, there was a continued improvement in relations

	Washington Summit

1987
	The Intermediate-Range Nuclear Force (INF) Treaty was signed.  The Treaty said that both countries would abolish all land based missiles with a range of 500-5,500km.

	Moscow Summit

1988
	Detail regarding the INF Treaty was ironed out and Gorbachev  agreed to withdraw troops from Afghanistan

	Malta Summit

1989
	No new agreements were made but both the USA and USSR promised one another a peaceful era and an end to the Cold War.


In 1988 Gorbachev ended the Brezhnev Doctrine and told satellite states that they could make changes to their own countries without interference from the Soviet Union.  This was known as the Sinatra Doctrine.  As a result the communist governments in the satellite states were overthrown either through losing in elections or because of revolution against the communist governments.  In East Berlin there were mass protests which resulted in the Berlin Wall being pulled down and in 1991 Germany was reunified as one country.
The collapse of the Soviet Union

Events in Eastern Europe had a catastrophic impact on the Soviet Union.  The many nationalities and ethnic groups saw how the satellite states had been able to break away from Moscow.  In 1990 the Baltic states of Estonia, Latvia and Lithuania declared themselves independent and this was accepted by Moscow.  Gorbachev found that he was opposed by most sections of Soviet society as he was blamed for losing control of Eastern Europe and the breakup of the Soviet Union and so resigned in December 1991.
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